Math 9 Review test 3 — linear equations, quadratic equations, inequalities
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Complete the square: x? — 6x
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Complete the square: x? + 3x
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Solve by completing the square: x* + 8x =5

N
(]

Solve by completing the square: x% + 10x —3 =0
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Solve using the Q.F.: 6x24+9x +2 =0
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Solve usingthe Q.F.: x> —6x—2=0
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Solve using the Q.F.: x? + 10x = —25
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Solve usingthe Q.F.: x> —2x+4 =0
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F=§c+32, find F when C = 25.
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€ =2(F —32), find C when F = 41,
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S =2(A+L),find N when A =2,L =20and S = 110.
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P =2L+ 2W, find W when P = 50 and L = 15.
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-10< -2x <20
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—-5<1-2x<-3




41 T
Convert the graph: 4 to interval notation.
42
Convert the graph: -3 2 to interval notation.
43 | Convert (5,8) to inequality notation.
44 | Convert to inequality notation: [2,0), (—o0,1),[2,4).
Solutions:
1 x =117 2 x =10
3 ‘= 9 4 x = —ab
5 C é a 6 x =
T
7 22 8 2
x = 3 x = Tl
9 ‘= @ 10 x=-3
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11 xX“—6x+9 12 X2 4 3x 42
13 (x +5)> =75 14 (x —6)% =36
15 ng x:—l 16 XxX=-6,x=5
2’ 2
17 5 5 18 1 3
x_g,x_—g x=—§,x=§
19 -2 20 x =23
x = ?,x =5
21 x=9,x=3 22 x=6+2
23 No real solution 24 x=—4+21
25 x=-5++28 26 -9 ++/33
y=——T""
12
27 3+V11 28 x =5
29 No real solution 30 F=77
31 c=5 32 N =10
33 W =10 34 x < —27
35 x <5 36 x >3
37 -5<x<?2 38 —2<x<13/4
39 -10<x <5 40 2<x<3
41 (—0,4] 42 (-3,2]
43 5<x<8 44 x =2, x <1, 2<x<4




